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T THERFERECKE)

I & A M= RETHE | EfI
EREE AR T
As t=5cm 382.60 3801 m
AsE K ER T
L=5.4km =)
As &K T .
0.50 0.50| m
SHAE R T ,
As t=10cm{F 0.20BH 128.96 129
w5
As DT:4t 0.20BH L=4.6km 6.45 6| m
2 Hl
HIEYl  0.2BH 624.30 620 ni
ERELEFEEL)
- HIEY]  0.2BH 553.17 550| ni
BEL&EEL)
- HIEY]  0.2BH 0.00 ol n
A (FEL) ;
DT:4t L=6.5km 9.69 10| m
TRERETL )
RC-40 t=19cm 128.96 129
i RC-40 t=5cm 319.67 320 nf
TERET
RM-40 t=15cm 128.96 129| nf
xEL " .
B4 BRI EAs t=5cm 128.96 129] m
+8T
TS ERH=2.0m X{RT1E& 68.00 68| m




T TEREKERE - BEH)
o] o] @ | @ | ® ® | @ | | @ | | @ ®@ ® ®
DIP ¢ 100 DIP ¢ 200 DIP ¢ 150| DIP ¢ 200| DIP ¢ 100| 100~200
I & RS R Xy B /G
Astiize | A A | AsEhsk | FEEL | AsEhisk| B WA | AsEhER| FEL | BEL | B | AsEEE| BA | AsEk
GESIl, As [t= 5ecm
m 23.20 30.00 21.00 54.20 18.20 236.00 382.60
SRR AR AR As |t= 10cmLLF _
m 10.44 9.75 9.45 20.33 8.19 70.80 128.96
% M % | As |DT-4t .
m 0.52 0.49 0.47 1.02 0.41 3.54 6.45
o H &) (MK 0.20BH -
m 16.39| 23.91| 117.88|  9.46| 55.47| 1578 40.25| 177.41| 19.72| 27.46| 4.25| 3.89| 12.04] 515 95.24 624.30
BRL(HES) | L8 | 0.20BH .
m 12.71| 22.99| 110.16| 598 5455 12.17| 38.09| 161.46| 13.81| 26.10| 4.12| 3.60| 8.91|  4.89| 73.63 553.17
BRLERL) | L& |## 0.20BH _
m 0.00
KOS (FEL) | £8 |DT-4t° -
m 227 -1.63| -452| 282 -5.14| 226] -207| -1.99] 438 -154| -033] -011| 2.14| -0.28] 1343 9.69
TERELT #4 [RC-40 t=19cm -
e 10.44 9.75 9.45 20.33 8.19 70.80 128.96
LERET e |RC-40 t=5cm -
e 14.76| 115.57 23.40| 158.40 3.64 3.90 319.67
LERET e |RM-40 t=15cm -
e 10.44 9.75 9.45 20.33 8.19 70.80 128.96
B T As |BHERKAS t=5cm -
e 10.44 9.75 9.45 20.33 8.19 70.80 128.96




BkE+TEE

EE - BR DIP ¢ 100mn ETRm L) 157

TTHEE O FERE 0.05 EWERFEL) 1.23
=E 393 g BEWORE 0.100 BRER(XET) -
FakE RXETES EE 0.118 TERE 0.19
DIP ¢ 100mm TEA 0.90 TERE 0.15
DP:1.5m =g 0.05

L= | 11.60 m
O THEOT
1160 x 2 =] 23.20]
O &R
0.90 x 11.60 =] 10.44]
O AsRELyD
1044 x 0.5 =] 0.52]
O i
0.90 x 157 x 11.60 =] 16.39]
O #BRLEHEL)
(090 x 1.23 — 0118 x 0118 x 3.14 x 025 )x 11.60 =] 12.71]
O Ko (FEL)
1639 — ( 1271 = 09 ) =1 2.27]
O TREET - FERET - XKBT
090 x 11.60 =] 10.44]
ETE - B DIP ¢ 100mm TEE] 167
TTIHEE @ FERE = ERERGEL) 157
il smatat ETORE 0.100 BRERHET) -
ook RRATR ENE 0118 TEEE =
DIP ¢ 100mm I 0.90 TERR 0.05
DP:1.5m EJE] —
500 — 360 + 800 + 7.0
L= | 16.40 m
O HmiEH
0.90 x 1.62 x 16.40 =] 23.91]
O #BELGEL)
(090 x 157 — 0.118 x 0118 x 3.14 x 025 )x 16.40 =] 22.99]
O KL (REL)
2391 — ( 2299 =+ 09 ) =] -1.63]

O LERET

0.90 x 16.40 I:I 14.76|




EiE - B DIP ¢ 100mm Rl 1.02
ITTHEEOQ [ EE — ERER GeET) 0.97
W s BEWORE 0.100 BRER(XRET) -
FkE AT ENE 0.118 TERE =
DIP ¢ 100mm e 0.65 TERE 0.05
DP:0.9m E3E] —
18530 — 140 — 7.00 400 + 490
L= | 177.80 m
O HEHIRG
0.65 x 1.02 x 177.80 =] 11788]
O BRELGEEL)
( 065 x 097 — 0118 x 0118 x 3.14 x 025 )x  177.80 =] 110.16]
O BHAHFEL)
11788 — ( 11016 + 09 ) =] I52]
O LERET
0.65 x 177.80 =] T15567]
ETE - B DIP ¢ 100mm e 0.97
TTIHEE® FERE 0.05 EWERGEL) 0.63
BE OSOM | EWORE 0.100 BRERHEL) -
Bk P EIE 0.118 TERE 0.19
DIP ¢ 100mn BT 0.65 TERR 0.15
DP:0.9m EJE] 0.05
2300 — 8.0
L= | 15.00 m
O &y
1500 x 2 =] 30.00] m
O =R AR
0.65 x 15.00 =] 975 m
O AsRALSD
975 x 0.5 =] 049] m
O HiEH
0.65 x 097 x 15.00 =] 946] m
O #BREL(ELT)
( 065 x 063 — 0118 x 0118 x 3.14 x 025 )x 15.00 =] 598 m
O FEHLs(FEL)
946 — ( 598 =+ 09 ) =] 282 m
O FTRHET - LEHET - %ET
0.65 x 15.00 =] 975 m




EiE - B DIP ¢ 100mm Rl 1.02
TTEHEEZ G [ EE — ERERREL) 1.02
FxEL st BEWORE 0.100 BRER(XRET) -
FRkE RXETES EE 0.118 TRERE =
DIP ¢ 100mm e 0.65 TERE —
DP:0.9m E3E] —
L= | 83.66 m
O HWIEH
0.65 x 1.02 x 83.66 =] 5547]
O #BRLEEL)
(065 x 1.02 — 0118 x 0.118 x 3.14 x 025 )x  83.66 ] 5455]
O BHAHFEL)
5547 — ( 5455 + 09 ) =] 514]
TR - B DIP $ 200mm e T.67
TTIHEE ® FHERE 0.05 BEWERGEL) 1.33
BE OSOM | EWORE 0.200 BRERHEL) -
Bk PR EE 0.220 TERE 0.19
DIP ¢ 200mm TR 0.90 TREE 0.15
DP:1.5m ES 0.05
300 + 350 + 4.00
L= 10.50 m
O &k
1050 x 2 =] 21.00[ m
O 2= ARG
0.90 x 10.50 =] 9.45] ni
O AsRALSD
945 x 0.5 =] 0.47] i
O IR
090 x 1.67 x 10.50 =] 1578] i
O #BRLEFEL)
(090 x 133 — 0220 x 0220 x 3.14 x 025 )x 10.50 =] 1217] o
O KL (FEL)
1578 — ( 1217 + 09 ) [=] 2.26] ni
O FEHHET - LEHSET - RET
090 x 10.50 [=] 9.45] ni




EiE - R DIP ¢ 200mm HEEH 1.72
TTEHEEZ @ EHERRE - MR R (R4 L) 1.67
WH - EWURE 0.200 B R (&R 1) —
AX Al A<
BokE B 0.220 TRERKE —
DIP ¢ 200mm EEIE 0.90 LR 0.05
DP:1.5m =8 -
500 — 300 + 7.00 + 700 + 300 + 7.00
L= 26.00 m
O MM
0.90 x 1.72 x 26.00 [=] 40.25] i
O #BRLEEL)
(090 x 1.67 — 0220 x 0220 x 3.14 x 025 )x 26.00 [=] 38.09] i
O Ko (REL)
4025 — ( 3809 + 09 ) [=] 207 o
O LERET
0.90 x 26.00 [=] 23.40] i
EiE - BR DIP ¢ 200mm KRN 1.12
TTIEHESE R - B R (FE L) 1.07
ROH) e BIZOE 0.200 R R R £) —
. RRETRM =
BKE BEoME 0.220 TIERE -
DIP ¢ 200mm IR 0.75 LB 0.05
DP:0.9m =B -
20250 — 200 — 700 — 7.00 + 1340 + 7.70
+ 3.60
L= 211.20 m
O HiEH
0.75 x 1.12 x 211.20 [=] 177.41]
O BRELEEL)
(075 x 1.07 — 0220 x 0220 x 3.14 x 025)x  211.20 [=] 161.46] nf
O EHEn(FEL)
17741 — ( 16146 + 09 ) [=] -1.99] i
O LERET
075 x 211.20 [=] 158.40] ni




EiE - B DIP ¢ 200mm HEEH 0.97
TTHEEO IR 0.05 IR R (£ 1) 0.73
#HE 394 BEREURE 0.200 HEMIER (R £) —
BokE B 0.220 TRERKE 0.19
DIP ¢ 200mn RIS 0.75 LR 0.15
DP:0.9m e 0.05
310 + 7.00 + 2050 — 350
L= 27.10 m
O &I
2710 x 2 [=] 5420 m
(O B:371 ¢
0.75 x 27.10 [=] 2033] i
O AsRALH
2033 x  0.05 [=] 102] i
O i
075 x 097 x [=] 1972] i
O #BRLEFEL)
( 075 x 073 — 0.220 x 3.14 x 0.25 )x 27.10 [=] 1381] i
O Ko (FEL)
1972 — ( 0.9 ) [=] 438] o
O THEERET - EERET - XET
0.75 x 27.10 [=] 2033] i
EfE - TR DIP ¢ 200mm IR 1.02
TTEHESE SERE - HBHER(FEL) 1.02
i+ e BIEUER 0.200 MR R (R +) —
N AT R =
feKE BEHE 0.220 TERKE -
DIP ¢ 200mn IR 0.75 LERE -
DP:0.9m B3] -
3940 — 350
L= 35.90 m
O HiEd
0.75 x 1.02 x [=] 27.46] i
O #BEREL&HEL)
(075 x 1.02 — 0.220 x 3.14 x 0.25 )x 35.90 [=] 26.10] i
O EHEn(FEL)
2746 — ( 0.9 ) [=] -154] o




EiE - R DIP ¢ 200mm HEEH 1.62
TTHEEO HERRE IR R (£ 1) 1.62
REL . BEREURE 0.200 HEMIER (R £) —
. BEIE e
BeKE BHER 0.220 TERE -
DIP ¢ 200mm EEIE 0.75 LR
DP:1.5m =8 -
L= 3.50 m
O MM
0.75 x 1.62 x 350 [=] 425] o
O #BRELEFEL)
(075 x 1.62 — 0220 x 0220 x 3.14 x 025 )x 3.50 [=] 412] n
O Ko (REL)
425 — (412 =+ 09 ) [=] -033] i
EiE - BR DIP ¢ 150mm KRN 1.07
TTHEED HhERRE - IR R (RE L) 1.02
ROH) e BIEUE 0.150 R R R £) —
. RRETRM
BKE BEoME 0.169 TIERE -
DIP ¢ 150mm IR 0.70 LB 0.05
DP:0.9m =B -
L= 5.20 m
O timIEyl
070 x 1.07 x 5.0 [=] 389] nf
O BRELEEL)
( 070 x 1.02 — 0.169 x 0.169 x 3.14 x 025 )x 5.20 [=] 3.60]
O EHEon(FEL)
380 — ( 36 <+ 09 ) [=] 011 i
O LERET
0.70 x 520 [=] 3.64] ni




EiE - R DIP ¢ 200mm HEEH 1.47
TTHEE® IR 0.05 IR (L +) 1.13
ROH) e BIREOR 0.200 HER R 1) -
" RRETERM
BeKE BHER 0.220 TERE 0.19
DIP ¢ 200mm EEIE 0.90 LR 0.15
DP:1.3m B 0.05
L= 9.10 m
[OF B3l
910 x 2 [=] 18.20]
O &R
090 x 9.10 [=] 8.19]
O AsRALS
819 x 0.05 [=] 0.41]
O i
0.90 x 1.47 x 9.10 [=] 12.04]
O #BRLEFETL)
(090 x 1.13 — 0220 x 0220 x 3.14 x 025 )x 9.10 [=] 8.91]
O Ko (FEL)
1204 — ( 891 =+ 09 ) [=] 2.14]
O THEERET - EERET - XET
0.90 x 9.10 [=] 8.19]
EfE - TR DIP ¢ 200mm IR 1.32
TTIEHES HERRE 0.05 HIIER (FEL) 1.27
ROF) e BIEUER 0.100 MR R (R +) —
N AT R =
feKE BEHE 0.118 TERKE -
DIP ¢ 100mn IR 0.65 B 0.15
DP:1.2m B3] -
L= 6.00 m
O HiEd
0.65 x 1.32 x  6.00 [=] 5.15]
O #BREL&EEL)
( 065 x 127 — 0118 x 0118 x 3.14 x 025 )x 6.00 [=] 4.89]
O EHEn(FEL)
515 — ( 489 + 09 ) [=] -0.28]

O LERET

0.65 x  6.00 [=] 3.90]




EiE - BR DIP ¢ 100~200 HemAEE 1.38
TTHEE® IR 0.05 IR (L +) 1.04
O30 |, EEUE 0.1~0.22 HAER (@R L) -
e AXETER
BB E EEAME 0.163 TERE 0.19
DIP ¢ 100mn RIS 0.60 LR 0.15
FIHRHIELA3 =8 0.05
¢100mm | 60.00 |m
¢150mm | 12.00 |m
$200mm | 46.00 |m
L= 118.00 m
[OF B3l
11800 x 2 [=] 236.00] m
O &R
0.60 x 118.00 =] 7080 i
O AsRALS
7080 x 0.5 | 354] o
O i
( 060 x 1.38 — 0163 x 0.163 x 3.14 x 025 )x  118.00 95.24] i
O #BRLEFETL)
0.60 x 1.04 x 118.00 7363] i
O Ko (FEL)
9524 — ( 7363 =+ 09 ) | 1343 i
O THEERET - EERET - XET
0.60 x 118.00 = 7080 i




K EMRE
GXZ ¢ 100 - 150 - 200 - 300mm

®E T n i B B | B
$100 2898 m

g A B I ¢ 150 i
9200 3337 m

$300 17 m

$100 AR

$ 150 e

$ 200 R

BE ¢ 100 o

BE ¢ 150 e

BE ¢ 200 2

EZ]E ¢ 100 o4 0

ERE ¢ 150 4 0

BEAT 2HE ¢ 200 7l O

EHE ¢ 300 1 0

GU>% $100 e

GU>% $150 o

GU>% $200 e

GU > % $300 e

PU> 2 ¢200 e

# v £ B B I 4100 e
$ 200 o=

noLoA F OE B OE I oE 27| =




®x E T K M = AL
B X S B B T
E[] 2 H
BE 7K 7 % B T
E[] 2 =
Lyvarvs—raRy 7 REBET
M3 4 >
7 7 v v b3 F T
75 g8l O
$100 400.4] m
BRRT—7L
$ 150 8.0/ m
$ 200 653.2 m
g BA R > — b T
$100 - ¢ 150 - ¢ 200 - ¢ 300 628.9] m
ERMEDIPA ¢ 100 1| &mr
o & iEDIPA ¢ 200 1| &R
B EMTFIRY AL FHEIEDIPA ¢ Ul
kB K 2 ¢ 100 1| &Fr
HkEm K 2 ¢ 300 1| &Fr
DIP ¢ 100 2| O
BERRE VIR T
DIP ¢ 150 2| O
DIP ¢ 200 2| O




FokEMRIEER

ik BE(X) HhE ZCEi': s = ZFE == SR ARREE FiET 3%
&3 N E st |111/4° |221/20 | 45° 45° 8 | 300H | 450H |100%100]200%100]200%200| 150-100|200-150| 300-200| 150-100| 200-150| 100%75 | 200%75
GX
100 60 17 77 1 16 1 2 2 3 1 2
GX
150 1 1 1 1 1 1 2 1
GX
200 50 21 71 22 4 2 3 1 4 1 3 1 1 2
GX
300 1 1
ZF/VABL [ FCD | A7/bABL[ FCD | BKE | BEAFR | V7K | V7 F Ea
kL e | MER | HAE | HA g = = 5 | EtH e IEE [ #Ba —or | @ sallpn s j%_a_; j%_/‘_l_'\l\
&Rl | 75*200H|75*200H | E[O HO |500%690/500%690( M= i L=1m/#| BRE
GX
100 1 1 1 1 1 1 8 3 11 11 24 23 28 & m
GX
150 4 1 5
GX 54 | 628.9
200 1 1 1 1 1 1 11 5 16 16 37 32 37 1
GX

300 1 1




e K & & & #A &
. DP0.9 & Al i 292.667 m)|
GXﬁ$¢ 100m m ~15 BEBHREER 289.757 m
7 e - MRIER HE T R
i 4.000 60 240.000
1.190 6 7.140
3.000 1 3.000
1.860 1 1.860
. 1.000 3 3.000
1.360 1 1.360
1.450 1 1.450
0.850 1 0.850
LLEG 1.350 1 1.350
LLEG 3.370 1 3.370
LLEG 1.000 7 7.000
Z8E LLEG 3.330 1 3.330
LLEG 3.500 1 3.500
0.000
0.000
GXHZ ¢100 11 1/4° 0.310 1 0.310
FCDEAE GXJE ¢ 100 22 1/2° 0.430 16 6.880
GXHZ ¢ 100 45° 0.420 1 0.420
FCD#t#s GF ¢ 100 0.200 2 0.400
FCOmZEE G ¢ 100 0.020 2 0.040
FCDZF%& $ 100 x H300 0.730 3 2.190
FCDZF& ¢ 100 x H450 0.780 0 0.000
FCOZZTFE ¢ 100 x 100 0.590 1 0.590
FCOZZTFE XMHE&EIL¢200mTa L ¢ 200 %100 0.170 1 0.170
FCD7 5 v [ TFE GX# ¢100%x 75 0.440 2 0.880
FCD7 5 v i ¢ 75 x 1501 2
2T v L REFEER ¢ 75 % 200L (L1 -) 1
FCDEH @ 75 % 200L (b -) 1
2T L REMTFRE N e BO 1
FCD#F =UH Ag O 1
Ly vavyy- bR - SRE (SRERON L HAGR) $500 % 690H 1
V' vavy)-h R - SRE (BRE SRR | HEKA) ¢ 500 x 690H 1
V7 b= AR XIBRIEROHELE M ¢ 100 0.180 8 1.440
V7 b= AR XIERIEROHETLE & ¢ 100 0.490 3 1.470
HOHE - EE H=510~690mm 11
BT EILE ¢ 100 24
Y Z 4+ $100 0.029 23 0.667
Y GY>7 ¢100 28
N A DIP ¢ 100
THKE T FE DIPE ¢ 100x100
Bt DIPFS ¢ 100




e K & & & #A &
. DP0.9m ¥E Bl & 6.409 m|
GXﬁ$¢ 150m m EHRER 6.409 m
7 e - DP MRIER HE T R
ER= 0.9 5.000 0 0.000
0.9 1.000 1 1.000
FE
0.9 2.000 1 2.000
2 LLEG 0.9 1.000 1 1.000
GXH ¢100 22 1/2° 0.9 0.440 1 0.440
FCDEAE GXJZ ¢ 100 45° 0.9 0.440 1 0.440
FCDik#R GJ¥ ¢ 150 0.9 0.240 1 0.240
FCOmZEE G ¢ 150 0.9 0.020 1 0.020
FCOZIFHEE GJ ¢ 150 % ¢ 100 0.9 0.410 2 0.820
FCOf@Z R &E G ¢ 150 % ¢ 100 0.9 0.420 1 0.420
V7 b= AR XIEEIEROHE L M3 ¢ 150 0.9 0.220 0.000
V7 by =LA XRRIER O A E 4 ¢ 150 0.9 0.550 0.000
TUIRE - EA H=510~690mm -
BT EIE ¢ 150 - 4
P >S4+ ¢150 0.9 0.029 1 0.029
// GY>7 ¢150 - 5




DP0.9  #2 HI & 339.638 m

GXﬁ? ¢ 200mm ~15 EHRIER 333.728 m
izl £ R MEHER HE R

[E 5.000 50 250.000

1.120 9 10.080

2.500 1 2.500

. 1.000 4 4.000

1.020 1 1.020

1.380 1 1.380

3.000 1 3.000

2.000 1 2.000

1.500 1 1.500

1.450 1 1.450

2.190 1 2.190

o 2.930 1 2.930

LLYD) 2.000 1 2.000

s 1.100 1 1.100

LLYD) 2.430 1 2.430

s 2.440 1 2.440

LLYD) 1.500 1 1.500

s 3.450 1 3.450

ZHE LLYD) 1.350 1 1.350

s 1.000 3 3.000

LLYD) 2.000 1 2.000

s 2.320 1 2.320

LLYD) 4.360 1 4.360

s 1.460 1 1.460

FCDM GXJ% ¢200 221/2° 0.450 22 9.900

GX ¢ 200 45° 0.530 4 2.120

FCDR>¥ 7Ry b 45° GX# ¢ 200 45° 0.820 2 1.640

FCD#it#h G ¢ 200 0.250 3 0.750

FCDmIEE G ¢ 200 0.020 1 0.020

FCDZF%E $200 % H300 0.910 4 3.640

FCDZFE $ 200 x H450 1.010 0 0.000

FCD=ZTFE $200x100 3 ¢ 2008 0.500 1 0.500

FCD=RTFE ¢ 200 x 200 0.810 3 2.430

FCDEIHFEE $200-150 0.440 1 0.440

FCDimZ F&E $200-150 0.420 1 0.420

FCD7 5 v o TEE GXH ¢ 20075 0.470 2 0.940
FCD7 5 v oEsE ¢ 75x150L (DP0.9/) 2
25 L 2EBIER ¢ 75 200L (LN -) 1
FCDELFHE ST ¢ 75 200L (LN -) 1
RT L ZBMTFHE AR L Am| 1
FCD#EF =K Aig HQ 1
VY vy - - SKE (RE SRR COEAR) ¢ 500 x 690H 1
VY vavy)- TR - SRE RERR © HEkT) ¢ 500 x 690H 1

V7 b= Es KIBHIEROHKE L 3% ¢ 200 0.260 11 2.860

V7 b= Es KIBRIERO A5 E % ¢ 200 0.610 5 3.050
EIFARE - ES H=510~690mm 16
RE ¢ 200 37

” 4 F ¢ 200 0.039 32 1.248
7 GY 7% ¢200 37

y PU 2 ¢200 0.220 1 0.220




. DP16 & 4 X = 1.690 m
GX#2 ¢ 300mm EHBREER 1.690 m
* S MREER BE E R
= H=300 1.170 1 1.170
FCDZ B &% ¢ 300-200 0.520 1 0.520
BEAET EZE ¢ 300 1
” GY > $300 1
g A E
GXfZ $100mm L=4.0m/Z
RUE ZUE g ZAE () A B il
1 1.190 1.000 181 2
2 1.190 1.000 181 2
3 1.190 1.000 181 2
4 1.190 1.000 181 2
5 1.190 1.000 181 2
6 1.190 1.000 181 2
7 3.000 1.00| 1
8 1.860 1.350 079 2
9 1.000 300| 1
10 1.000 3.00| 1
11 1.000 300| 1
12 1.360 264 1
13 1.450 255| 1
14 0.850 1.000 215| 2
15 3.330 067 1
16 3.370 063] 1
17 3.500 050 1
B 25
GXf2 ¢ 150mm L=5.0m/7&
REE g g ZANE () A B il
1 1.000 1.000 2.000 1.000| 3
= 3




GXfZ $200mm L=5.0m/=&
BE zUE ZUE ZAE () % & Pl

1 1.120 2.000 1.880| 2
2 1.120 1.100 2.780( 2
3 1.120 2.430 1.450| 2
4 1.120 2.440 1.440| 2
5 1.120 1.500 2.380( 2
6 1.120 1.350 2.530f 2
7 1.120 1.000 2.880( 2
8 1.120 2.000 1.880| 2
9 1.120 2.320 1.560| 2
10 2.500 2.320 0.180f 2
11 1.000 2.320 1.680| 2
12 1.020 3.980| 1
13 1.380 3.620| 1
14 3.000 2.000f 1
15 2.000 4.360 -1.360| 2
16 2.000 1.460 1.540| 2
17 2.000 3.000] 1
18 2.000 3.000] 1
19 1.500 3.500| 1
20 1.450 3.5650] 1
21 2.190 2.810] 1

2.930 2.070] 1

3.450 1.550| 1
B 36




B — FPEHER

B £ GX¢100mm | GX¢150mm | GX¢200mm | GX¢300mm
Eh R EER 289.757 6.409 333.728 1.69
BB E R 2 0 2 0
(ERRIER) 0.664 0.664 0.664 0.664
) £l = 288.429 6.409 3324 1.69
X E B 288.4 6.4 332.4 1.7 628.9
R T—7HEHRK
5 = ¢ 100mm ¢ 150mm ¢ 200mm GX ¢ 300mm
B 15 60 0 50 0
7] 15 17 1 21 0
) £l = 400.4 8.0 653.2 0.0 1061.6
1K & 7= Y 5.2 8.0 9.2
B E B 20.02 0.400 32.66 54

%/ 20 m




BREREHRAS



DIP
T fi B & ¥ & i
DIP ¢ 100 60.0 | m
WEE R ERA T DIP ¢ 150 120 m
DIP ¢ 200 46.0 | m
DIP ¢ 100 17.0] A
B U T.(143.4m) DIP ¢ 150 3.0 H
DIP ¢ 200 13.0] A
R 4t L=25kmLLF [
EE WL # AT T 2.62| t
O $BFRERE
¢ 100mm = 60.0 [ m
® 150mm = 120 m
¢ 200mm = 46.0 m
O EHHRHITE AT :m
Bt B Q) HiHRH JERL HXL RS SETHEIIRES
¢ 100mm 1.2 1.32 60 79.20
¢ 150mm 0.9 1.67 12 20.04 a3
¢ 200mm 1.3 1.52 46 69.92
=t 118 169.16
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